WBS Number: 3BPR.10311, 3BPR.20311, 3BPR.10821, 3BPR.20821 Duplin/Sampson On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	4	EA	6,000,00	24.00000
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	250,00	2,500,00
3	4455000000-N	1150	FLAGGER	30	DAY	400,00	12,000,00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	275	LF	125.00	34,375,00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2000	LF	92,00	184,000,00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	34,00	5,950,00
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	34.00	5,950,00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	2000	LF	52,00	104,000,00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	570,00	17,100.00

CONTRACTOR Applied Polymerics Inc.
ADDRESS 131 St. James Way Mount Airy NC 27030
Federal Identification Number 56-2021982
Contractor's License Number 46705

TOTAL BID FOR PROJECT:

389,875,00

Authorized Agent Jonathan Simmons Title presiden	+
Signature Joneth Simmons Date 5-17-2	1
Witness DENNIS LA DOHNSON Title SECRETAR	<u>Y</u>
Signature Date 5-17-Z	L
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)	
Name_ Dennis Johnson	CORPORATE SEAL
Email dyohnso J@applied polymerics.com	CORPORATE SEAL
Phone 336 - 339 - 1523	
THIS SECTION TO BE COMPLETED BY NORTH CAROLIN TRANSPORTATION	NA DEPARTMENT OF
This bid has been reviewed in accordance with Article 103-1 of the Standard Specificat	ions for Roads and Structures 2018.
Reviewed by NCDOT 200 tie murphy	Date 5 30 2021
Accepted by NCDOT	Date $\frac{5 30 3021}{202}$
()	

WBS Number: 3BPR.10311, 3BPR.20311, 3BPR.10821, 3BPR.20821 Duplin/Sampson On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	4	EA	Cn.000.1	4.000.00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	100.00	1,000.00
3	4455000000-N	1150	FLAGGER	30	DAY	3,000.00	00,000,00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	275	LF	150.00	41,250.00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2000	LF	•	200,000.00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	50.00	8,150.00
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	50.00	8,750.00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	2000	LF	50.00	100,000.00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	500.00	15,000,00

CONTRACTOR	C WORKS	Tre	
ADDRESS 1021 H	VOODS XRL RD	Benon, nc	27504
Federal Identification Number_			
Contractor's License Number	69858		

TOTAL BID FOR PROJECT:

448,750.00

Authorized Agent Chris BAREFORT Title V-Pour	let
Signature Shuths Date 5/14/2	1_
Witness TAM BAREFORT Title Pren.	
Signature January Bacefoot Date 5/14/2	· <u>/</u>
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution) Name	CORPORATE SEAL
Email The WORKS 3@ Genil, com	CORPORATE SEAL
Phone 919 069 5943	
THIS SECTION TO BE COMPLETED BY NORTH CAROLI	NA DEPARTMENT OF
TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifican	tions for Bonds and Characterine 2019
Reviewed by NCDOT 200 tie Thurshy	Date 5 /00 20001
Accepted by NCDOT	Date 5/20/202

WBS Number: 3BPR.10311, 3BPR.20311, 3BPR.10821, 3BPR.20821 Duplin/Sampson On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	4	EA	10,000.00	40,000.00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	200.00	2,000.00
3	4455000000-N	1150	FLAGGER	30	DAY	750.00	22,500.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	275	LF	740.00	203,500.00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2000	LF	375.00	750,000.00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	190.00	33,250.00
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	265.00	46,375.00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	2000	LF	312.00	624,000.00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	750.00	22,500.00

CONTRACTOR RAM Construction Services of Michigan, Inc.	
ADDRESS13800 Eckles Road, Livonia, MI 48150	_
Federal Identification Number_38-1164400	
Contractor's License Number 65314	

1,744,125.00

Authorized Agent Ed Conrad	Title Vice President
Signature Id Course	_Date <i>5-20-2021</i>
Witness Kristina Zielinski	Title Administrative Assistant
Signature	Date 5-20-2021
Point of Contact for Post-Bid Inquires (e.g., Lett Insurance, Bonds, and Contract Execution)	4 2
Name Kristina Zielinski	CORPORATE SEAL
Email KZielinski@RamServices.com	CORPORATE
Phone <u>734-437-6220</u>	
	Y NORTH CAROLINA DEPARTMENT OF
TRANSPO This bid has been reviewed in accordance with Article 103-1	ORTATION I of the Standard Specifications for Roads and Structures 2018.
Reviewed by NCDOT Soote Trurph	9
Accepted by NCDOT	Date 5 20 2021 Date 5/20/202

WBS Number: 3BPR.10311, 3BPR.20311, 3BPR.10821, 3BPR.20821 Duplin/Sampson On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	4	EA	\$ 7500.00	\$ 30000.00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	\$ 1500.00	\$ 15000.
3	4455000000-N	1150	FLAGGER	30	DAY	\$ 750.00	\$ 22500.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	275	LF	\$ 350.00	\$ 96250.00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2000	LF	§ 90.00	180000.00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	175	LF	\$ 60.00	\$ 10500.00
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	175	LF	\$ 20.00	\$ 3500.
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	2000	LF '	F 75.00	\$ 150000.00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	\$ 400.00	8 12000.00

CONTRACTOR_	BAX	LEY (OCPORA	TION LU	c	
ADDRESS 1211	WAKE	FOLEST	ROAD	RALEICH	NC,	27604
Federal Identificati					,	
Contractor's Licen	se Number	797	()			

Authorized Agent JONATHAN ICEITH Title MANAGE	
Signature Date 5/20/21	
Witness R Bll Title Courter	EL
Signature RYMN BACC Date 5/20/21	
• /	
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)	
Name_BRANDOW BAYLEY	CORPORATE SEAL
Email BRANDON C BAXCEYCORP. COM	CORPORATE SEAL
Phone 919 986 1519	
THIS SECTION TO BE COMPLETED BY NORTH CAROLII TRANSPORTATION	NA DEPARTMENT OF
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifican	
Reviewed by NCDOT Doothe Murphy	Date 5 20 3021
Accepted by NCDOT	Date $\frac{5}{20}$ Date $\frac{5}{20}$

WBS Number: 3BPR.10671, 3BPR.20671, 3BPR.10711, 3BPR.20711 Onslow/Pender On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	5	EA	6,000,00	30,000,00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	250,00	2,500,00 /
3	4455000000-N	1150	FLAGGER	30	DAY	400,00	12,000,000
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	275	LF	125,00	34,375,00V
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2100	LF	92,00	193,200,00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	525	LF	34,00	17,850,000
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	30	LF	34,00	1,020,000
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	2100	LF	52,00	109,200,00 V
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	570.00	17,100,00 V

	TOTAL BID FOR PROJECT:_	\$ 417	245.00/	
2				

CONTRACTOR Applied Polymerics Inc.							
ADDRESS 131 St. James Way Mount Airy NC 27030							
Federal Identification Number 56.2021982							
Contractor's License Number 46705							

Authorized Agent Janathan Simmons Title presiden	<u>+</u>
Signature Jonath Symmond Date 5-17-21	
Witness DENNIS 4. DOHASON TITLE SECRETAR	<u> </u>
Signature Date 5-17-21	
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)	
Name Dennis Johnson	CORPORATE SEAL
Email dyohnson@appliedpolymerics.com	CORPORATE SEAL
Phone 336-339-1523	
THIS SECTION TO BE COMPLETED BY NORTH CAROLIN	A DEPARTMENT OF
TRANSPORTATION	6.00
This bid has been reviewed in accordance with Article 103-1 of the Standard Specificate	4
Reviewed by NCDOT	Date 5 20 2021
Accepted by NCDOT	Date 5/20/202
V	

WBS Number: 3BPR.10671, 3BPR.20671, 3BPR.10711, 3BPR.20711 Onslow/Pender On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	5	EA	1,000.00	5,000,00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	100.00	V 60.000.1
3	4455000000-N	1150	FLAGGER	30	DAY	3,500.00	105,000.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	275	LF	150.00	41250.00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2100	LF	CO.001	210,000.00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	525	LF	50.00	26250.00
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	30	LF	50.00	1,500.00 V
8	8867000000-Е	SP	FOAM JOINT REPLACEMENT W/SAW CUT	2100	LF	50.00	105.000.00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	500.00	15,000.00 L

CONTRACTOR	Tre	WORK	(>	Inc		
ADDRESS /021	W0005	XRh	RR	Benon	112754	
Federal Identification Nu				•		
Contractor's License Nur	nher	6984	-4			

510,000,00

Authorized Agent Chais BARFRET Title U-Pres	
SignatureDateDateDate	
Witness THM BAREFULT Title Pres.	
Signature January Becefort Date 5/14/21	
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)	
Name Kelly Ryals	CORPORATE SEAL
Email_TIC WORKS 3@ Amid. com	CORPORATE SEAL
Phone 919 469 5943	

THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2018.

Reviewed by NCDOT Jootie Murphy

Date 5/20/2021

Accepted by NCDOT

Data

WBS Number: 3BPR.10671, 3BPR.20671, 3BPR.10711, 3BPR.20711 Onslow/Pender On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	5	EA	10,000.00	50,000.00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	200.00	2,000.00
3	4455000000-N	1150	FLAGGER	30	DAY	750.00	22,500.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	275	LF	740.00	203,500.00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2100	LF	375.00	787,500.00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	525	LF	175.00	91,875.00
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	30	LF	265.00	7,950.00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	2100	LF	312.00	655,200.00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	750.00	22,500.00 ~

CONTRACTOR_	RAM Construction Services of Michigan, Inc.
ADDRESS	13800 Eckles Road, Livonia, MI 48150
Federal Identificat	ion Number_38-1164400
Contractor's Licer	ise Number 65314

1,843,025.00

Authorized Agent_ Ed Conrad	Title_Vice President	
Signature Ed Course	Date 5-20-2021	
Witness Kristina Zielinski	Title Administrative Assistant	
Signature	Date 5-20-2021	
Point of Contact for Post-Bid Inquires (e.g., Lett Insurance, Bonds, and Contract Execution)	ers of Intent,	
Name Kristina Zielinski		CORPORATE SEAL
Email KZielinski@RamServices.com		CORPORATE SEAL
Phone _734-437-6220		
THIS SECTION TO BE COMPLETED B		ARTMENT OF
TRANSPO This bid has been reviewed in accordance with Article 103-1	ORTATION of the Standard Specifications for Re	pads and Structures 2018.
Reviewed by NCDOT Doote mus	hy	Date 5 20 2021
Accepted by NCDOT	4	Date 5/70/762

WBS Number: 3BPR.10671, 3BPR.20671, 3BPR.10711, 3BPR.20711 Onslow/Pender On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	5	EA	\$ 7500.00	\$ 37500.00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	\$ 1500.00	\$ 15000.00
3	4455000000-N	1150	FLAGGER	30	DAY	\$ 750.00	\$ 22500.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	275	LF	350.00	\$ 96250.00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2100	LF	\$ 90.00	\$ 189,000.00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	525	LF	\$ 60.00	\$ 31500.00
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	30	LF	\$ 20.00	\$ 600.00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	2100	LF	F 75.00	\$157500.00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	\$ 400.°°	\$ 12000.00

				_
TOTAL BID	FOR PROJECT:_	\$ 561	850.00/	

CONTRACTOR	BAXLEY	1 CORFO	RATION	LLC		
ADDRESS 121	WAKE	Forest	ROAD	RALEIGH	NC	27604
Federal Identification	Number 81	-265499	8			
Contractor's License	Number 7	9711				

Authorized Agent Joseph Kurk	Title MANAGE
Signature ###	Date 5/zo/2 /
Witness KYAW BACC	Title COPTIONAL
Signature R BUL	Date 3/20/2/
Point of Contact for Post-Bid Inquires (e.g., Lett Insurance, Bonds, and Contract Execution) Name BRANDON BAYCEY	ters of Intent, CORPORATE SEAL
Email BRANDON @ BAXLEY	CORP.COM CORPORATE SEAL
Phone 919 986 1519	
THIS SECTION TO BE COMPLETED B	BY NORTH CAROLINA DEPARTMENT OF

THIS SECTION TO BE	COMPLETED E	BY NORTH CAROI	LINA DEPARTMENT O	F				
TRANSPORTATION								

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2018.

Reviewed by NCDOT Doote Murphy

Date 5/20/2021

Date 5/20/2021

WBS Number: 3BPR.10101, 3BPR.20101, 3BPR.10651, 3BPR.20651 Brunswick/New Hanover On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	4	EA	6,000.00	24,000,00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	250.00	2,500,00
3	4455000000-N	1150	FLAGGER	10	DAY	400.00	4,000,00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	20	LF	125,00	2,500,00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2000	LF	92,00	184,000.00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	50	LF	34,00	1,700.00 V
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	2000	LF	34.00	68,000.00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	1250	LF	52,00	65,000.00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	570.00	17,100,00 V

TOTAL BID FOR PROJECT:_	\$ 368	800,00

CONTRACTOR Applied Polymerics Inc.
ADDRESS 131 St. James Way Mount Airy NC 27030
Federal Identification Number 56-2021982
Contractor's License Number 46705

Authorized Agent Jopathan Simmon Stille preside	ent
Signature Anath Simmond Date 5-17-	-21
Witness DENNIS L. JOHNSON Title SECRETAL Signature Date 5-17-	
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)	
Name Dennis Johnson	CORPORATE SEAL
Email djohnson@appliedpolymerics.com	CORPORATE SEAL
Phone 336-339-1523	
THIS SECTION TO BE COMPLETED BY NORTH CAROLI TRANSPORTATION	NA DEPARTMENT OF
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifica	
Reviewed by NCDOT_ Joo tie Murphy	Date 5 (20) 2021
Accepted by NCDOT	Date 5/20/2021

WBS Number: 3BPR.10101, 3BPR.20101, 3BPR.10651, 3BPR.20651 Brunswick/New Hanover On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	4	EA	5 7500.00	30000.00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	\$ 1500 00	\$ 15000.00
3	4455000000-N	1150	FLAGGER	10	DAY	\$ 750 00	8 7500.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	20	LF	\$ 350.00	\$ 7000.00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2000	LF	\$ 90.00	\$ 180 000.00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	50	LF	\$ 60.00	\$ 3000.00
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	2000	LF	\$ 20.00	\$ 40000.00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	1250	LF	\$ 75.00	\$ 93750.00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	\$ 400.°°	\$ 12000.00

TOTAL BID FOR PROJECT: \$ 388 250. 00 V

CONTRACTOR BAXL	64 (CORPORA	7100	LCC		
ADDRESS 121	AKE	Forest	RD	RALGIGH	NC	27604
Federal Identification Number						
Contractor's License Number	79	711		3.		

Authorized Agent 50 2 1714 KC17H	Title NAJAGEL		
Signature The Signature	Date 5/20/21		
Witness Ryn > Bau	Title Cout Cocc	CR	
Signature & B.L.	Date 5/4/21		
Point of Contact for Post-Bid Inquires (e.g., Lett Insurance, Bonds, and Contract Execution)	ers of Intent,		
Name BRANDON BAXLEY		CORPORA' SEAL	ΓE
Email BRANDON C BAXCE	7CoeP.com	CORPORAT SEAL	ГЕ
Phone 919 986 1519			
THIS SECTION TO BE COMPLETED B		NA DEPARTMEN	T OF
This bid has been reviewed in accordance with Article 103-1	ORTATION of the Standard Specificat	ions for Roads and Stru	ictures 2018.
Reviewed by NCDOT	LAAM	Date	5/20/202
Accepted by NCDOT Sootie Murp	hy	Date	5 30 3031

WBS Number: 3BPR.10101, 3BPR.20101, 3BPR.10651, 3BPR.20651 Brunswick/New Hanover On Call Repair And /Or Replacement of Bridge Expansion Joints

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	MOBILIZATION	4	EA	10,000.00	40,000.00
2	0000820000-N	SP	PORTABLE LIGHTING	10	DAY	200.00	2,000.00
3	4455000000-N	1150	FLAGGER	10	DAY	750.00	7,500.00
4	8867000000-E	SP	ASPHALT JOINT REPAIR/REPLACEMENT (18" 24" WIDE W/PLATE)	20	LF	740.00	14,800.00
5	8867000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (LESS THAN 16" WIDE)	2000	LF	375.00	750,000.00
6	8867000000-E	SP	SILICONE JOINT REPLACEMENT	50	LF	196.00	9,800.00
7	8867000000-E	SP	FOAM JOINT REPLACEMENT	2000	LF	265.00	530,000.00
8	8867000000-E	SP	FOAM JOINT REPLACEMENT W/SAW CUT	1250	LF	312.00	390,000.00
9	8882000000-E	SP	JOINT REPAIR USING ELASTOMERIC CONCRETE (GREATER THAN 16" WIDE)	30	CF	750.00	22,500.00

CONTRACTOR_RAM Construction Services of Michigan, Inc.	<u> </u>
ADDRESS_13800 Eckles Road, Livonia, MI 48150	
Federal Identification Number 38-1164400	
Contractor's License Number 65314	

1,766,600.00

Authorized Ager	nt Ed Conrad	Title_	Vice President		
Signature Sil	I bound	_Date_	5-20-2021		
Witness Kristina Zielinski		Title Administrative Assistant			
Signature 3			5-20-2021		
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)					
Name Kristi	ina Zielinski			CORPORA SEAL	TE
EmailKZielinski@RamServices.com			CORPORA	TE	
				SEAL	
Phone734-4	437-6220				
			toolii uusen		
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION					
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2018.					
Reviewed by NCDOT Doothe murphy Date 5/20/2021					
		n/			0/20/202